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Ql.

a. Consider the language S* ,
ianguage have?

c.

S.cction A

:. C on\'r'rr thc follorviDs MA to DFA

a.b

5 does this

h

3
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J
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1, Give CF'G for the follorving

:i, rb* b1 a*b*

g. ConstructaPDAto accept L : 1 anb2, rvltere n= 123 ...j
ll. w r'tte a sholt note on halting probiem of Tr-rring Machines

Sectiori'B

Q2.

,r. Cive FA for the languages a;d find out L1 + 12;

L1 = a(a+b)t L2 = (a+[)*[

b. For each pair ofregular languages find

L1 = (n rl)*6 L:_: (a+b)*aa(a+b)*

a regular expression and FA that define Ll .0 L2

5

5

5

5

Q3.

a. Show that the i*guug" I, = { a,,b,,a,, : n>= 0 } is not regular

b. Design a DFA coresponding to regular expression b*(ba)*
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